
Nombres Décimaux (G)
Trouvez chaque différence.

57 - 14 = 6,3 - 0,15 =

0,82 - 0,19 = 6,4 - 0,47 =

73 - 8 = 92 - 0,79 =

98 - 1,9 = 72 - 22 =

81 - 0,91 = 72 - 0,29 =

68 - 3,6 = 54 - 0,51 =

0,25 - 0,16 = 0,59 - 0,5 =

17 - 0,22 = 54 - 46 =

79 - 0,26 = 47 - 9 =

4,4 - 1,3 = 52 - 0,65 =
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Nombres Décimaux (G) Solutions
Trouvez chaque différence.

57 - 14 = 43 6,3 - 0,15 = 6,15

0,82 - 0,19 = 0,63 6,4 - 0,47 = 5,93

73 - 8 = 65 92 - 0,79 = 91,21

98 - 1,9 = 96,1 72 - 22 = 50

81 - 0,91 = 80,09 72 - 0,29 = 71,71

68 - 3,6 = 64,4 54 - 0,51 = 53,49

0,25 - 0,16 = 0,09 0,59 - 0,5 = 0,09

17 - 0,22 = 16,78 54 - 46 = 8

79 - 0,26 = 78,74 47 - 9 = 38

4,4 - 1,3 = 3,1 52 - 0,65 = 51,35
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